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(2)

(4)

Which of the following is rational number ?

(1) V3

(3)

N =

(2)

(4)

2. feadsmoamm¥sm s fiRaFdafeae 2

3
1 3
2

(3

b=

Which of the following rational numbers lies between 3 and 4 ?

m. 2

® 3
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6J5 x 245 TH ¢

(1) 8¥5 (2) 60
3 125 (4) 300
645 x 245 is equal to

(1) 85 | (2) 60
(3 12/5 (4) 300
4. (5+45) (5-V5) T &

(1 20 (2) 10

(5+J§] (5- Jg] is equal to

() 20 (2) 10
3y 6 4) 5
999-9004 /11 MTH
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L ¥ & @1 ufcrfieor a3 W WA G@T €

V2
2 V2
(1) % | (2) 2
3 2 ' 4) @ g

The number obtained on rationalising the denominator of _,[12: is

2 V2
(1 = N2
(1) ﬁ (2) >
(3) % (4) none of these

1
642 F OH &
(1) 2 2 4
(3) 6 4) 8
1

The value of 642 ig
(1) 2 (2) 4
Gy 6 4) 8

999-9004/11 |
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7. 23 % 23 T AH ¢

T IrS
DI

(ny 2 20 2
2
3 2° 4 2
- 2 1
The value of 23 x 23 is
4 2
(1 25 (2) 29
2
(3) 26 4 2
g, fad®m=gme ?
(1)  3Jx + xV2 2 x2+Jx
(3)  x+y3 4)  2¥x + x

Which of the following is a polynomial ?

(1) 3Jx + xJ2 2 x*+Vx
B)  x+43 (4 2Vx+x
1999-9004/11 | MTH 7 of 44
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9. TR 5x-+7 FUWE

() o 2 1,

1

3 2 4 3

The degree of polynomlial 5x -7 is

() o© (2 1

3 2 | 1

(3) @ 3
10. x=0 % foit agug 5x-4x2 +3 & 79 @

(1)~ 0 @ 3

3) 4 4 5

The value of polynomial 5x - 4x2 +3 for x = 0 will be

1) o 2 3

B 4 4 s
999-9004/11 MTH
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p(x)=x+5 & 35 &

1y o @ 5
@ -5, 4 -1
Zero of p(x)=x+5 is

(1) o (2) 5

3 -5 4 -1
(x+1) F x+3x2_1 &t 41T 3 | ANES W &y
{1} 0 2 1

(3) 2 | 4 3

Wh 21 is divi
€n x+3x“ -1 is divided by (x+ 1) then remainder will be

MTH
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13.  12x? = 7x+1 & UHGEUS &

(1)  (3x-1)(4x-1) ) (3x+1)(4x+1]

(3)  (3x-1)(4x+1) (4) (3x+1)(4x-1)

The factorisation of 12x? - 7x+1 is

(1) (3x-1)(4x-1) | (2) (3x+1)(4x+1)

(3} (3x-1)(4x+1) (4)  (3x+1)(4x-1)
14, (x-1), p(x)=x%+x+k & T U-ES & @ k F 79 arm

(1) 1 -2 2

@ -1 | 4 -2

If (x-1)is a factor of p(x]=x2+1‘+k, then the value of k will be

L4

(1 1 (2) 2
S @ -2
999-9004/11 MTH
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15. o fag w1 Fderien &
(1) (0,0)..
3 (0.1)
The coordinate of origin is
() (0,0)
@3 (0,1)
16. f@g(0,-5) R ¢
(1)  x3W W
3) farig Tquiw °
Point ( 0, - 5 lies
(1)  on the x-axis
(3)  in the second quadrant
| 999-0004/11
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(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)
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(1,0)

(1,.1)

(1,0)

(L, 1)

on the y-axis

in the fourth quadrant
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Answer Question Nos. 17-20 from the figure :

17. fag O % Fdwnis ¢

(h (2,-2)

G (2,2)

-2: -1 0
: -1
.S
e

R =3]

The coordinate of the point Qis

[1) ‘2’—2}
) (2,2)

999-9004/11]
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(2) (-2,é)

4) (-2,-2)

(2 (-2, 2)

4 (-2,-2)
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(1) P

(3]- R

<

18, Faeiie (-3, 2 ) 510 weEEn T fag @

2 ©Q

4 S

The point identified by the coordinate (- 3, 2 ) is

(1) 'P
3 R
19. g pwism e
m o
(3) 2

The abscissa of point Pis

() ©
B 2

20. {95 R & FNE %_
(1) -2
3 -3

.
- 9999004/ |

MTH

(20 Q
4 S
2) 1
4 -2
2) 1
4) -2
2. 2
4 3

MTH
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The ordinate of point R is
(1) -2 2) 2
3) -3 (4) 3
21. g =Y At {Ee TR H HHES T 7
(1)  dx+b=0 (2} ax+by+c=0
(3)  ax*+bx+c=0 (4)  ax®+by+c=0
The standard form of a linear equation in two variables is
(1) ax+b=0 (2) ax+by+c=0
(3) ax? +bx+c=0 (4) a.x2+by+c=0
22.  HHERU 2x+3y=8 &"Tﬂ?ﬁﬂ ax+by+c=0 T F:H W a, b Td ¢ g9 8
(1) a=2,b=3,¢c=8 (2) a=2,b=-3,¢=8
(3} a=2,b=3,c=-8 (4) a=2,b=-3 ¢c=_38

Comparing the equation 2x+ 3y=8 with ax+by+c=0. the values of q b
» O a’

and c will be

(1) a=2,b=3,¢=8 (2) a=2,b=_3 5
¥ - = y C=

(3) a=2,b=3 ¢c=-8 (4) a=2 p= 3
»O=~3 ¢c=_g

(999-9004/11] MTH

14 of 44



23.

24,

23,

Download PDF from - JACBoardSolutions.com

x+y=7 ﬂ%ﬁ%

(U x=0,y=0 (2)

@) x=0,y=4 (4)

The solution of x+y="7is

(1) x=0,y=0 ' (2)
3) x=0,y=4 (4)
x=4 3R y= 1 frg aifeto &1 261 & 2
() x=4y | (2)

@) 2x-y=7 (4)

x=4 and y = 1 is the solution of equation

(1) x=4y (2)
B 2x-y=7 (4)
e A w9 3w A e wee § )

(1) 2x+5=0 . (2)

3) y=2 (4)

993
2004/11 | MTH

x=3,y=0

x=3,y=4

x=3,y=0

x=3,y=4

2x+y=7

y=3x +5

2x+y=7

y=3x +5

x+y=1

2x

[
w

MTH

15 of 44



MTH

Which one of the following is a linear equation 111
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two VariableS ?

(1) 2x+5=0 @ x+y=l
3) y=2 4) 2x=3
26. x-3T&] I FHIHL &
(1) x=a 2 y=b
3) x=0 4 y=0
The equation of x-axis is
(1) x=a 2 y=>b
(3) x=0 (4) y=0
27. AR (2,5)EH GHHOT 2x+ y=k B THEAL AN k FTHF &
(1) 3 2 6
@ 9 4) - 12
If {2, 5) is the solution of the linear €équation 2x + y = k, then the value
of kis
(1) 3 2 6
@ 9 4 12
[999.9004/11| MTH
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28, 40° &1 4T HIUT g0
1) 40° (2) 50°
3, 1200 (4)  140°
The complementary angle of 40° will be
(1}  40° (2) 50°
(3)  120° (4)  140°
29, 80° & WS HIT I
(1)  10° (2)  40°
3]  100% 4) 110°
The supplementary angle of 80° will be
() 10 (2) 40°
3) 100 ‘ (4) 110°
30, Emﬁmg@%wwﬁmﬁ?ﬁ’ﬁf%l TS A = & )
(h  10° | (2)  60°
() 1200 (4)  240°
19999604 /11 MTH
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Th u its supplementa W)
ure of an angle is twice the meas re of its supp ry ez,
c Imeas

What is its measure ?

1 10° (2) 60°

3)  120° (4) 240°

31. P A AOB U T 1@ E | x F A §

)
D
X + 200
A« X >
o B
(1) 40° (2) 50°
(3) 60‘;_/,-" (4) 70°

In the figure AOB is a straight line. The value of x is

C

A —

(1) 40°
(@) s0e
3) 60°
@) 700
999-9004/11]
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40 M AR OP || RS, ZOPQ = 110° 3R LQRS = 130° &, T LPORFUH ¢

R > S
- p 130
) 110
Q
(1)  40° (2) 50°
(3) 60° () 70°

In the figure, if OP || RS, ZOPQ = 110° and ZQRS = 130°, then £LPOR is

equal to
R > S
0 «
(1) 40° _ . (2)- 50°
(3) 60° i : (4) 70°

33. B % =1 Sion & 9 e R
(1)  80° : (2) 90°

(3)  100° (4) 180°

99990041 |
m MTH 19 of 44 .
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The sum of the three angles of a triangl

(1) 80° (2)
(3)  100° (4)
THeTg gt o1 Sl HI0 BN €

(1} 60° (2)
(3) 80° (4)

Each angle of an equilateral triangle is
(1) 60° @)
(3) 80° | (4)
afs A ABC = APQR @ PR SR &

(1) AB (2)
(3) AC 4)
If A ABC = APQR, then PR is equal to
(1) AB 2

(3) AC @)

999.9004 /11| MTH
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i ABCH AB= ACHR /B=50"%, T /C T &

36.
(1) 40° (2) 50°
(3) 80° | (4) . 130°
_In AABC, AB= AC and 4B = 50°. Then ZC is equal to
(1) 40° (2) 50°
(3) 80° 4) 130°
37. BWH PORT /P=,Q%, & QR &R &
(1) PO (?) QR
3) PR | .‘(41 T | HIE @
In APQR, £P= £Q, then QR is equal to
()  PQ (2)  OR
3) PR . (4)  none of these
38, ﬂﬁwﬁ%wwaﬁmﬁmﬁﬁﬁ%w*wﬁﬁaﬁﬁw%
(1) Es | 2) T
() s o Frger @) R

21 of 44
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wo angles, &
i ' he sum of the other two ang d‘lm1
If one angle of a triangle is equal to the¢

the triangle is

i triangle
(1)  an acute triangle (2) aright

these
(3)  an obtuse triangle (4) none of

39, f O @ i gEnTandr & w9 2

3) S-S-A (4) A-S-8
Which of the following is a criterion for congruence of triangles ?
() A-A-A 2) S-A-S
(3) S-5-A (4) A-8S-8

40. afe AABC = APQR 3R AB= PQ, BC= QR @l /B sa 2

(1) <P @ zQ

(3) <R 4 TR R

If AABC = APQOR and AB = PQ, BC = 612, then /B jg equal to

() 2P (2) 20

(3) 4R (4} none of these
—



